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QUESTION NO: 1

Exhibit
B\ Exhibit il

Mabwork 1

10.10.11.0724 %

Metwork 2

109012 0524

Which two statements are correct about the service provider MPLS network shown in the exhibit? (Choose two.)
A. R3 is considered a P router.

B. R3 is considered a PE router.

C. R3 is considered a transit router.

D. R3 is considered an ingress router.

ANSWER: AB

QUESTION NO: 2

You want to see a detailed list of all established BGP sessions. In this scenario, what would be a valid command to
accomplish this task?

A. show bgp neighbor
B. show bgp summary
C. show rouse receive-protocol bgp

D. show rouse protocol bgp

ANSWER: D

QUESTION NO: 3
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Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)
A. The OSPF Interfaces are configured as point-to-point.

B. The ge-0/0"1.0 Interface is configured as passive.

C. The R2 device is an ABR.

D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

ANSWER: B D

QUESTION NO: 4

Which new field is added to an IPv6 header as compared lo IPv4?
A. version

B. checksum

C. fragment offset

D. flow label

ANSWER: D

QUESTION NO: 5

Exhibit
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user@Routerl4 show protocols bgp
group External |

peer-as 64525;

neighbor 172.25.1.2;
1

Referring to the exhibit, what must be included in the Route1 configuration when establishing an EBGP session with the
ISP?

A. A local address must be specified.
B. A local AS must be specified.
C. The BGP session type internal must be specified.

D. The BGP session type external must be specified.

ANSWER: A

QUESTION NO: 6

Exhibit
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Referring to the exhibit, how do you verify the status of the tunnel from R1?
A. Issue the ping 172.20.111.10 source 172.20.110.1 command.

B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
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C. Issue the ping 172.20.iii.io source 203.0.113.2 command.

D. Issue the ping 172.20. Ill. 10 command.

ANSWER: C

QUESTION NO: 7

What are two types of SIDs used in segment touting? (Choose two.)
A. node

B. adjacency

C. link

D. interface

ANSWER: AB

QUESTION NO: 8

Exhibit
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Which two statements ate correct about the information shown in the exhibit? (Choose two.)
A. The root bridge is reachable using the ge-0/0/14 interface.

B. This switch is the root bridge for this spanning tree topology.
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C. This switch has a bridge priority of 8k.

D. The root bridge's priority Is 4k.

ANSWER: B D

QUESTION NO: 9

You are asked to create connections between routing instances on the same Junos device and route between the connected
Instances. What are two ways to accomplish this task? (Choose two.)

A. Use physical interfaces.
B. Use an IRB interface.
C. Use logical tunnel interfaces.

D. Use loopback interfaces.

ANSWER: AB

QUESTION NO: 10

Exhibit

S Exhibit
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

ANSWER: C
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